—REEVLERERICHE TS5 EZRMBHRET EQORAERRIZONT

T e At a5 oA RN AL 53 512 J6 U 2 ZE TR o i & BEANIK 56 25 0 2 IOR P B e
ZRE LT REZBHBE LET,

[ SM5F8 AR ]

1. ZERERSRE

(1) HEH 8 H 28 H~8 J] 30 H
(2) HIERER  BREDREREER
(3) HIERR

AN OZERIREHRRE, ARG & k& 20 M E b 0 AT LI,

) \ wmeoE A (1 Sv/h)
i % M E H :
oM B OR PRAE H 5+ BT o g
A ROTL 8H30H 0. 04~0. 04 0. 07
oM L % 8H28H 0. 03~0. 03 0. 04
o/ L % 8H29H 0. 04~0. 04 0. 07
AFEIENT LS 8H29H 0. 03~0. 03 0. 03

* SN RIESR © () IGHEERT PA-1000Radi #fEH L C\ET,
k K -HIFEmEIY 100 cmDOESTHIELTWET,



2. MHMEYMERE
2-1 ROWSHEMERE
(1) UBHEER 8 H 14 H ~23H AR - B - Iafk
(2) MEHE =X 255
(3) MIERES
T PE YV P 1 X BR B T D HHEST HLYE (8,000Bg/kg) LAF T L=,

(HAZ : Balke)

Wt > A HE e v o B o b
% s
Cs—134 Cs—137 & B

AR T Y BAEIK *1 ARH(30 K4 | ARG A& Ak H
= M L5 BEIK *1 AH H (30 i) 36 36

BEHIIK *2 K H (30 ARTii) A H (30 i) Ak H
s AR T 5

HFE T AK*3 A H (30 ARdii) 54 54

% 1 ARTHLOB N T, gt SR & MRIK 2 53 0 CTRER - ikt © & 2 & 72
STWRWZ, RERE (REIK) DORZHIEL TWET,

* 2 TBEHIK] &1 TFEIK] Ebn, THERSLTRICHEDIKD Z & T, BEAF DK
HrbHH S E T,

%3 THEULAIK] &iX TTRIK) &b, HilnaE U AR & CTHIE I A hic s
FRTWEHZL (IFVTA) OZETT,

2-2 HARBOMSENERE
(1) #EHRRHE 8H 14 H ~23H 44 - B -
(2) WEKE =X XBREW

(3) HIERIR  HSTEE R IR TED S EELL T T Lz, (HAZ : Bg/m®)

B o A E SR ATANN Bt o A

it % 44 = PURHRE -
Cs—134 Cs—137 &t
by e R H(0.15 Ai) K H(0.18 ) KR H

Rl | ARRH0.35 &) | ARH(0.55 Ai) AR




AR Y

K HH(0.21 i)

FHH(0.11 Ki%)

T

AHHH(0.54 i)

K H(0.48 AT

A

R LAl

Tl T

A

K HH(0.17 Aiid)

A HH(0.13 ATi)

A

RFL

A (0.42 FTi)

R H(0.52 i)

At

HHEHR

RFL

A

Rl

K (0.13 A

K HE(0.10 i)

At

R

i (0.36 ATi)

RHiH(0.36 i)

i

% JEIIRRE) L TV D BERNFE O 2 5 fi L TV ET,

k  [— ) OBEHFEIZEMMETESCLVELRFO-DREL TWER A,

* 0 NOEER, BIERORE TIRET, SRS 27 ARBICEASND D

HEZ LI R0 £,

2-3 MRKEOMSEYMERE
(1) #EHEERH 8 H 10 H ~23 H

(2) HERKE

T X T AR

(3) HIERR  HSTEE R IR TED D EELL T T Lz,

(Bf7 : Bg/L)

Tk o J/E LA Febt e o A
% S
Cs—134 Cs—137 & &t
AR T Y HOR A oK A H(2.0 K3 R (2.0 A5%) AR
=M T TKIE T A H(2.0 K3 R (2.0 A5%) R




TKERRAK | AEHQ.0 KN | AREHH(2.0 Ki) A
i QRN R0 A | ARBHE(2.0 Kii) AR
B 1 ARHI.0 A | AR H (2.0 A A
B 2 ARH.0 ) | AR H(2.0 A A
B 3 ARH.0 ) | AR (2.0 A A




